
FQM-4G
Tav. 560005600M01P00

531020 300

541072 700

536006 400

544108 000

531013 400

531017 300

541076 700

533010 100

541077 200

533010 200

531001 000
544294 000

541047 200

541047 800

541077 100

539018 900

536000 200

544293 900

536005 300

560005 600M01P00

        globalgastroparts.com  -  szervizaruhaz.hu



FQM-4G - GAS FQM-4G

Codice Descrizione Prezzo €
531020300 GRIGLIA SC.FUMI 400 TOND.S65 23,05
536006400 MANIGLIA S65 NERA 16,50
544108000 COP.VASCA FMG-15-2/15 FQM-4G 54,70
541072700 ASS.DIST.S65 4 FORATO 84,25
531013400 CESTO FG 300X330X120 FMG-15 54,70
531017300 FILTRO VASCA S.CESTO F18 -G S70 44,90
541076700 ASS.PIANO S65 FQM-4G 525,00
533010100 RACC.BIC.Ø18 3/4 9,90
541077200 ASS.CARC.FQM-4G 221,00
533010200 BICONO RUBINETTO 531000100 Ø18 9,90
531001000 VALV.SFERA 3/4G F/PORTAG. 29,65
544294000 CRUSC.S65 SUP.FQM-4G NEUTRO 40,60
541047200 ASS.FILTRO BAC.RACC.OLIO RETT. 84,25
541047800 ASS.PORTA 3 DX 156,00
541077100 ASS.BAC.RACC.OLIO 23LT (S) 208,90
539018900 INDICE MAN.C/FRECCIA ROSSA 5,55
536000200 PARACOLPI Ø12 H.4 5,55
544293900 CRUSC.S65 FQM-4G 60,25
536005300 PIEDE Ø2" 120-170 M10 PLAST (S) 16,50

        globalgastroparts.com  -  szervizaruhaz.hu



FQM-4G
Tav. 560036000M03P00

        globalgastroparts.com  -  szervizaruhaz.hu



FQM-4G - GAS FQM-4G

Codice Descrizione Prezzo €
533010900 DADO ES.M14X1 OT 5,55
544147400 BOCCOLA REG.ARIA FMG-FQ 11,00
536005000 DADO ES.X PIEZOELETTRCIO M18X1 (S) 3,30
537002800 PIEZOELETT.M18X1,5 C/D 12,15
537010000 TERMOST.SIC.MONOF.222°C C/DADO 56,95
536005100 GUARNIZ.Ø07,4 GRAFFITE 7,85
533008600 PREMISTOPPA M09X1 TAGL.NICH. 6,60
533018500 RACC.BIC.Ø06 M10X1 4,55
533039100 BICONO Ø06 4,55
533018000 RACC.BIC.Ø12 3/8G 5,55
533017900 BICONO Ø12 4,55
533053600 TAPPO VALV.EURO. 7,85
531025200 VALV.EUROSIT 110-190°C FQ M.PL. (S) 141,10
531025201 VALV.EUROSIT 110-190°C FQ M.OT. 141,00
533040600 GRANO PPEI M4X08 BRUNITO 5,55
533139300 GRANO PCEI M5X05 BRUNITO 1,05
533052601 PERNO MAN.PL.VALV.EUROSIT LUNGO 7,85
533139400 PERNO MAN.OT.VALV.EUROSIT LUNGO 18,75
536017100 MANOP.Ø70 PEL Ø08X6,5 SEDE PERP. 15,45
539022700 DISC.64.FQ-G R. (110¸190°) 5,55
533011000 PILOTA 0160 3F RACC.TERMOC. 21,95
533067200 TC G.UNI 0900 INTERROTTA 23,05
533010400 BICONO PILOTA 0160 Ø06 5,55
533018500 RACC.BIC.Ø06 M10X1 4,55
533018600 RACC.CANDELA Ø7 M10X1 4,55
537003000 CAND.ACC.VITE M M4 ELETTR.LUNGO 9,90
547002700 CAV.AT TUB.Ø2 -OCC.Ø4 L0500 7,85
533052800 SPINA ELASTICA Ø2,5X26 (S) 6,60
533052600 PERNO MAN.VALVOLA EUROSIT LUNGO (S) 8,85
536017200 ADATTATORE COM.DISTANZA EURO. (S) 9,90
533020200 UGELLO PILOTA 0160 Ø30 CORTO 5,55
533020400 UGELLO PILOTA 0160 Ø51 CORTO 5,55
533043200 INIETTORE CH12X14,0 Ø110 6,60
533030100 INIETTORE CH12X14,0 Ø095 6,60
533043600 INIETTORE CH12X14,0 Ø200 6,60
533019400 INIETTORE CH12X14,0 Ø180 6,60
531013900 BRU.FRIGG.FMG-10/15 83,10
531030700 BRU.FRIGG.FMG-10/15"S" 82,10

        globalgastroparts.com  -  szervizaruhaz.hu


